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SOURCE 3: A telegram from the Australian Prime Minister Arthur Fadden to Churchill, 4 September 1941 

Which of the inferences below can be made from this source? 

 On a scale of 1-5 how far do you agree 

that this source supports this inference? 

Which extract(s) from the source support 

your argument?  

Australia is feeling threatened by Japan   

Japan has grown more aggressive since 

1939 

  

British forces are stretched   

Australia feels well supported by the British 

Government. 

  

Australia feels that its forces are needed for 

its own self-defence. 

  

 


